Determine the line equation of a perpendicular bisector

AMNP is defined by points M(-5,3), N(4,6),

and P(1,-1). If R is the midpoint of MP, find

the line equation of perpendicular bisector
RT.

1. Plot the points of the triangle.
2. Find R, the midpoint of MP, by using
the midpoint formula.
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3. Find the slope of MP. 4 9
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3. Find the slope perpendicular to the slope of MP.
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4. Use the slope of RT and point R(-2,1) in point-slope form.
y-yi=m(x-Xxq)
y-1=3(x+2)

5. Convert to slope-intercept form.
y-1=3(x+2)
y-1=3x+3
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